du the CO'*“""}’ of Binland, the money Comes
bills of FL,4z, 84,43, #1¢, and €32,

(D I-( You o\aly hawe one bill oF CQCL k{u\J, show how You
acL\ Jellar amokld' \oclow by wrl-‘imﬂ hous my

Cann Pay €
of Carcl«y b;” 7’ou \,Jou.lJ wuse:-
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& + ox¥4
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The v\u\m‘oevs ‘w +he +able ave like a code

‘H’\ﬂ\-" we cCcaw hsSe ‘+o V'e.f»we.sewl' a.v\?/ N Lw ust.tj
|“s av\ol O's. For exattmp[e_,-l-\ae oocle 'Eor 2
s 0011, o just 11, Thic is called the

B\NA RY Coc[C,.



@ NL\a‘t [ ‘H"'C cocle '(;OF' —l'l«e_ -?o“owins num‘oefsz

<}-(-' the code starts with some Of, Vou dontt
need o wvide ‘\'I/\ZMB

N G
b) q:
9 |6
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) What numbers do these binavy codes represent 7
ay | O\
b |loo

c) |olO|
.J) |00 O OO

@ AJA‘“& " l::'mary‘. For eacl Falr =3 L;M,,-Y

num loers, write ftheir sum binary :
Hyl +1 =

byl1ot+ 10l =

)11 +4110 =

al+144111 =



Cuper- Clattence QuesTions .

CD b)l«a"' (S ~|’l«e bimavy Coc[e ‘FbV‘ -H«e V\Mm‘oer‘ one.

i llion @

@ How Mm\y Ai{-(exewl nmeev-s Cdun 'oQ fe.FV'QSQV\‘ted
U\SIV\S bimow'y t«umLev-s il “up 4+ |O 5(6'('('5

(eg. lollooe o)

@ COW‘I?(A'? the “gb“Ob\)uhS Sum L ‘aiw\av?/'.

llotlo (1ot Hind : |+1] = lO

4+ Q4o0v0i00100) in lbinary so You
need 4o wiride ©

and carvy fne 1

@ Cow\ru“e Yle '("’llow:v\j ?fthC'l’ tn ]o:kufyt




Rases §or number Sysjrew\g,

O(,..r uSual V\W\LCIS ave DEC IMAL ovr RASE |o.

T[/\'ls rMeans ‘H«a" each 0\13'\"\ in 2 number cgm,d-g
"for IO ‘{'iwég nove J’L\au '{1’\@ d%:“ '|'0 the

1\4‘(:
" 432
T R \Is

loos 1OS
To wrde all ?OCSIL le V\(AM'oequ, we need (O
diffevent synlals ©,1,2,3,4,5¢3 8.9

Blf"f\?\\f 1s ‘H«e hhw\Le( §Y$'lcv-\ b\s‘mj BASE 2.

Uove each digit comnts for 2 times imre
Hian Me 0\55[4 1o the V‘tsH".
|o |
Lls/ 2'[5 ’\'S

lC)g need only 2 s}mLOIS o wrte numbers I
ayv Y

l/JQ. caw 0\'50 Wf.('l'c y\mloer:f A ak)/ oThev lOQSQ. F;w'
CX“W‘FR D1 A base ¥ m™meanms

9x6qd + |*x8+ U <1,



